Wyniki badow ~ 0 Stowowa - bocane, - 1005 2020c.

Slawore ML G @D

Badanie modulu
dyramicznego wy.
TP BF-5tB crzesc B 8.3

Urzadzenie: HMP-LFG-5K

Nr.: 12438
 40.05. 2043

Badajacy
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Stopecane, HT
Fogoda/Tempetratura
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Nr.: 561

Data badania/fCzas:
03.02.2023/ 07:07

ool osndmmy | vadmm/s)
1 | 0.208 | 81.45

2 | 0.210 | 79.6m

3 | 0.218 | 74.42
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106.64 MPa

s/ 2.68B ms

t=Ems/d. 5=0,05 mm/d.
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Badanie modulu
dynamicznego wy. .
TP BF-5tB czesC B B.3
Urzadzenie: HMP-LFG-5K
Mr.: 12438
A0.05. 202D
Badajacy
. 0

Shone eanie e

Pogoda/Temperatura

projekt/Budowa/obiekt

badan/Warstwa

mgwmw1.
MNr.: 5862

Data badania/Czas:
03.02.2023/ 07:10

no | osnlmm) | womm/s5
1 | 0.471 | 126.03
2 | 0.452 | 116.86
3 | 0.454 | 116.43

ocena:
Evd = 49.02 MPa

Stawowa MV P
Badanie moduTuy
dynamicznego wg.
TP BF-5tB czesc B 8.3
Urzadzenie: HMP-LFG-5K
Nr.: 12438
4009 2043
Badajacy

. ~ O,
Stonecanie ! e

Fogoda/Temperatura

Projekt/Budowa/lbiekt

Obszar badan/MWarstwa

Nr.: BE&3

Data badania/Czas:

03.02.20237 07:13

ro L osndmm) | vndmm/s)

1 | 0.242 ] 84.29

> | 0.232 ] 82.93
0.23

Ocena:
Evd
s/v

85.74 MPa
2.83 ms

t=Sms/d. s5=0,05 mm/d.
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Badanie modulu
dynamicznego wg.,
TP BF-51B czesCc B B.3
Urzadzenie: HMP-LFG-5K
MNr.: 12438

10.05. L0322
Badajacy
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Fogoda/Temperatura

Projekt/Budowa/0biekt

Ohszar badan/Warstwa

Nr.: 564

Data badania/Czas:
03.02.2023/ 07:15
nobosndmmy | ovndmm/Ss)
1 | 0.433 | 167.38
2 | 0.428 | 165.49
3 | 0.440 | 170.36

Mw | 0.434 | 167.7

Ocena:
Evd
yAY

51.84 MPa
2.58 ms

=Ems/Sd. s5=0,10 mm/d.
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Stawovia {0 ﬁ@

Badanie moduly
dynamicznego wy.

TP BF-3tB cresc B 8.3

Urzadzenie: HMP-LFG-SK

Nr.: 12438
10.05 . 4043

Badajacy o

Stoneeene,; T

Fogoda/Temperatura
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Mr.: B5g5

Data badania/Czas:
03.02.2023/ 07:17

no Sndmm) | Yrmm/s
1 | 0.166 | 76.10
2 | 0.157 | 74.60

Md | 0,160 | 74.9

Ocena:
Evd = 140.83 MFPa
sV = 2.13 ms

t=5ms/d. 5=0,05 mm/d.
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